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VB ARG Y RH 07100 %RH
ARG FE A <5 %RH
TAEHE Vee 5+0.25 \
AR (55%RH) Vout 2.48 v
CEMTRIER =2 Ice 3.2 mAdc
BE R Tee -0.1 %RH/ °C
HEM +0.1 %RH
1B Vi +1 %RH
|32 0.1 %RH
PR I B R AmV/RH 26 mV/%RH
it P y/ 50 Q
M SR ] (T 63%) 10 s
VU. ¥ 5 4 AR A
R R (Ta=25C Vee=5V)
%RH 10% 15% 20% 25% 30% 35% 40% 45% 50%
Output (V) | 1.235 | 1.390 | 1.540 | 1.685 | 1.825 | 1.960 | 2.090 | 2.220 | 2.350
%RH 55% 60% 65% 70% 75% 80% 85% 90% 95%
Output (V) | 2.480 | 2.605 | 2.730 | 2.860 | 2.990 | 3.125 | 3.260 | 3.400 | 3.530
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RT 7 X%

T co Reent | T CC) Reent | T O Recent | T ¢c) | Reent | T CC) Rcent
-39 | 190.05 -4 33. 04 31 8.010 66 2.519 101 0.941
-38 | 179.91 -3 31.59 32 7.725 67 2.444 1 102 0.917
=37 | 170. 36 -2 30. 21 33 7. 452 68 2.372 103 0.893
-36 | 161. 36 -1 28.90 34 7.190 69 2.302 104 0.870
-35 | 152.88 0 27. 66 35 6. 938 70 2.235 105 0. 848
-34 | 144.89 1 26. 47 36 6. 697 71 2.170 | 106 0. 826
-33 | 137.35 2 25. 35 37 6. 465 72 2. 107 107 0. 805
-32 | 130.25 3 24. 27 38 6. 243 73 2.046 | 108 0. 785
=31 123. 54 4 23. 25 39 6. 029 74 1. 987 109 0. 765
-30 | 117.21 5 22.28 40 5. 824 75 1.930 | 110 0. 746
-29 | 111.24 6 21.35 41 5. 628 76 1.875 111 0.727
-28 | 105.61 7 20. 47 42 5. 438 77 1.821 112 0. 709
=27 | 100. 29 8 19. 63 43 5. 256 78 1.770 | 113 0. 691
-26 95. 26 9 18. 83 44 5.081 79 1.720 | 114 0.674
-25 90. 51 10 18. 07 45 4.913 80 1.671 115 0. 657
24 86. 02 11 17. 34 46 4,752 81 1.625 116 0.641
-23 81.78 12 16. 64 47 4. 596 82 1.579 117 0. 626
-22 77.77 13 15. 98 48 4. 446 83 1.535 118 0.610
-21 73.98 14 15. 35 49 4. 302 84 1.493 119 0. 596
-20 70. 40 15 14. 74 50 4. 164 85 1.452 120 0. 581
-19 67.00 16 14. 167 51 4. 030 86 1.412
-18 63. 79 17 13.616 52 3.902 87 1.373
-17 60. 75 18 13. 090 53 3. 778 88 1.336
-16 57. 87 19 12. 587 54 3. 658 89 1.299
-15 55. 14 20 12. 106 55 3. 543 90 1.264
-14 52. 56 21 11. 647 56 3.433 91 1.230
-13 50. 11 22 11. 207 57 3. 326 92 1. 197
-12 47.79 23 10. 787 58 3. 223 93 1. 165
-11 45. 59 24 10. 385 59 3.123 94 1. 134
-10 43. 51 25 10. 000 60 3.028 95 1.104
-9 41. 53 26 9.632 61 2.935 96 1.075
-8 39. 65 27 9.279 62 2. 846 97 1. 046
-7 37. 87 28 8.941 63 2. 760 98 1.019
-6 36. 18 29 8.617 64 2.677 99 0.992
-5 34. 57 30 8. 307 65 2. 597 100 | 0. 966
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